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These tables only give us an approximation, and not in every case the exact

day, for these two reasons. 1. The cycle of 19 years is not of a uniform
length. Thus in the cycles beginning with 1S05 and 1881 respectively, (Table
7) it will be found that only four of the 19 years arc leap years, Vhile in the
intermediate cycles there arc five. Each of the latter eycles therefore, will be
longer by one day than the former. 2. The presence of the intercalary day
in leap year also affects it. An instance will better show the influence of this


